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Put the events in the correct order.

1- GOLDILOCKS IS TIRED AND HUNGRY.

2- BABY BEAR TAKES BACK GOLDILCOKS TO THE VILLAGE.
3- GOLDILOCKS GOES TO THE FOREST.

4- GOLDILOCKS GOES TO THE VILLAGE EVERY DAY.

5- GOLDILOCKS GOES INTO A HOUSE IN THE FOREST.

6- GOLDILOCKS WAKES UP.

7- GOLDILOCKS WANTS TO GO THE FOREST.

8- GOLDILOCKS PLAYS WITH BABY BEAR IN THE FOREST EVERY DAY.
9- GOLDILOCKS EATS SOUP AND GOES TO BED.

10- GOLDILOCKS SHOUTS AND ASKS FOR HER MOM.

11- GOLDILOCKS IS TIRED AND HUNGRY.
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